

RETURN TO:

CLERK, CITY OF TROY 116 E. MARKET TROY, IL 62294 2021R40648

STATE OF ILLINOIS
MADISON COUNTY
09/27/2021 02:07 PM
DEBRA D. MING-MENDOZA
CLERK & RECORDER
REC FEE: 50.00
CO STAMP FEE:
ST STAMP FEE:
FF FEE:
RHSPS FEE:
OF PAGES: 6

CITY OF TROY

RESOLUTION NO. 2021 – 22

50.00

RESOLUTION OF THE CITY OF TROY, ILLINOIS, SUPPORTING THE
APPLICATION TO THE SAFE ROUTES TO SCHOOL (SRTS) GRANT PROGRAM AND FOR
THE USE OF MATCHING FUNDS
FOR THE SIDEWALK REPLACEMENT ALONG ROUTE 162 FROM HICKORY STREET TO
DEWEY STREET.

ADOPTED BY THE CITY COUNCIL OF THE CITY OF TROY, ILLINOIS THIS TWENTIETH DAY OF SEPTEMBER, 2021

Published in pamphlet form by the authority of the City Council of the City of Troy, Madison County, Illinois, this Twentieth day of September, 2021.

DOC 2021R40648 Pg 1 of 6

RESOLUTION NO. 2021 – 22

RESOLUTION OF THE CITY OF TROY, ILLINOIS, SUPPORTING THE APPLICATION TO THE SAFE ROUTES TO SCHOOL (SRTS) GRANT PROGRAM AND FOR THE USE OF MATCHING FUNDS FOR THE SIDEWALK REPLACEMNET ALONG ROUTE 162 FROM HICKORY STREET TO

DEWEY STREET.

WHEREAS, the City of Troy, Illinois, has identified an opportunity to secure matching funds from the Safe Routes to School (SRTS) Grant Program, Cycle 21 Call for Projects for sidewalk replacement on both sides of IL Route 162 from Hickory Street to Dewey Street. Also, for providing a safer connection to Silver Creek Elementary School; and

WHEREAS, the Safe Routes to School (SRTS) Grant Program, upon successful application, will provide up to 80 percent in matching funds (\$250,000 maximum) towards the overall construction costs of the project.

NOW, THEREFORE, BE IT ORDAINED BY THE MAYOR AND CITY COUNCIL OF THE CITY OF TROY, ILLINOIS, AS FOLLOWS:

- 1. The recitals set forth above are hereby incorporated herein as if fully set forth.
- 2. The total preliminary project cost is \$429,000, dependent on the engineer's estimate of final project cost.
- 3. The City of Troy, Illinois, shall apply for a Safe Routes to School (SRTS) Grant for 80% of the total project cost (\$250,000 maximum), which is \$250,000 in federal funds, dependent on engineer's estimate of final project cost.
- 4. The City of Troy, Illinois, shall match the SRTS Grant with 20% of the total project cost, which is \$179,000 in City General or Motor Fuel Tax funds, upon successful awarding from the Safe Routes to School (SRTS) Grant.
- 5. That the Mayor, on behalf of the City of Troy, Illinois, execute such documents and all other documents necessary for the carrying out of said grant applications.
- 6. That the Mayor is authorized to provide such additional information as may be required to accomplish the obtaining of such grant.
- 7. This Resolution shall be in effect following its passage, approval and publication as provided by law.
- 8. Any and all Resolutions, sections or subsections of Resolutions in conflict herewith are hereby repealed.

PASSED by the City Council of the City of Troy, Madison County, Illinois, approved by the Mayor, and deposited in the office of the City Clerk this 20th day of September, 2021.

Those voting aye:	DAWSON, FLINT, HELLRUNG, HENDERSON, ITALIANO, KNOLL, HANLEY
Those voting nay:	TURNER
Those absent:	

APPROVED:

By:_

DAVID NONN, Mayor

City of Troy, Illinois

ATTEST:

KIM THOMAS, Clerk

City of Troy, Illinois

(SEAL)



Location of Improvement:

Project	SRTS
Route	IL Route 162
Section	
County	Madison

Estimate of Cost

	<u></u>						
·		<u> </u>					
-	·						
For a total distance of 3,000 feet Type PCC Width 5' Shoulders Average Haul			Net Improvement of				
			Maximum Grade			%	
Code Number		Item		Unit of Measure	Quantity	Unit Price	Total Cost
	PCC Sidewalk			SQ FT	15,000	\$8.00	\$120,000.00
	PCC Curb Ramp	<u> </u>		SQ FT	400	\$10.00	\$4,000.00
_	Detectable Warning			SQ FT	80	\$50.00	\$4,000.00
	Sidewalk Removal			SQ FT	15,000	\$5.00	\$75,000.00
_	PCC Driveway Paven	nent		SQ YD	1,200	\$70.00	\$84,000.00
	Driveway Pavement F	Removal		SQ YD	1,200	\$20.00	\$24,000.00
	Earth Excavation			CU YD	50	\$100.00	\$5,000.00
	Seeding			ACRE	0.5	\$1,000.00	\$500.00
·	Perimeter Erosion Co	ntrol Barrier		FOOT	500	\$5.00	\$2,500.00
-	Traffic Control and Pr	otection		L SUM	1_	\$10,000.00	\$10,000.00
	Mobilization			L SUM	1	\$15,000.00	\$15,000.00
				:	-		
	Construction Cost 1	otal			_		\$344,000.00
	Contingency				_		\$25,000.00
	Preliminary Engineer	ng			_		\$60,000.00
	<u> </u>	-					
		•		_			
	-						
							-
				-			
					-		
TOTAL EST	IMATED COST OF W	ORK INCLUDING AL	L LABO	R, MATERIA	LS AND PROF	ITS.	\$429,000.00
Made by	SJF	Date9/17	7/2021 E	xamined			
Checked by		Date				F	legional Engineer

IL Route 162 in Troy, IL from Hickory Street to Dewey Street.



Return to:

has

City of Troy Attn: City Clerk 116 E. Market Street Troy, Illinois 62294

50.00

THIS PAGE BEING ADDED FOR RECORDER'S USE ONLY

RESOLUTION 2021-23

RESOLUTION 2021-23

RESOLUTION AUTHORIZING THE PURCHASE OF LEXIPOL POLICY MANAGEMENT AND POLICE ONE ACADEMY SOFTWARE FOR THE CITY OF TROY POLICE DEPARTMENT

WHEREAS, it is the desire of the City of Troy to provide quality police service within the City, and

WHEREAS, proper policy and training aid in providing quality policing services, and

WHEREAS, implementing and enforcing proper policy, which is up to date with current state and federal statutes, along with proper training regarding those policies have proven to reduce governmental liability in claims against police agencies, and

WHEREAS, police department staff have researched policy and training companies and determined that Lexipol is the only vendor capable of providing the necessary software and service.

NOW, THEREFORE, BE IT RESOLVED BY THE MAYOR AND CITY COUNCIL OF THE CITY OF TROY, ILLINOIS, AS FOLLOWS:

- 1. The City Council of the City of Troy approves the purchase of Lexipol Policy Management Software and Police One Academy Training Software, at a cost of \$42,287.00, by the City of Troy Police Department.
- 2. At least two-thirds of the corporate authorities of the City believe it is in the best interest of the City to waive any applicable bidding requirements, if any.
- 3. This Resolution shall be in effect following its passage and approval as provided by law.

PASSED by the City Council of the City of Troy, Madison County, Illinois, approved by the Mayor, and deposited in the office of the City Clerk this 20th day of September, 2021.

Ayes: NAWSON, FLINT, HELLRUNG, HEN	SERSON, ITALIANO, KNOLL, MANLEY, TURNER
Nays	
Absent:	
	Da Mh
	David Nonn Mayor

ATTEST:

Kimberly Thomas, City Clerk

END OF DOCUMENT